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PARI - A Answer all the questions (5 x10 = 50Marks)

1. [dentify the instruction type (Dgta transfer, Arithmetic, |

— = %
sical and Program Control) for the

following instructions / 7
a. Exchange - swap contents of sourc
b. Negate - Changesignoltheo
c. , Test ~Test specified condi 3

Halt ~ Stop program Execution .
Skip _increment PC to skip next instruction (>

[dentify the addressing mode for the following specification:

/ . An instruction is stored at location 2000 with its address field at location 2001. The address ficld

has the value 800. A processor register R1 contains the number 200. Evaluate the effective address it
9 the addressing mode of the instruction is (a) direct; (b) immediate (c) relative (d) register (¢) index
)

vith R1 as the index register.
/Explain the expanded structure of [AS Architecture in detail with the help of diagram.
3 A benchmark program is on a 40 MHz processor. The executed program consist ot 1,100 instruction
executions with the following instruction mix and clock cyele count.

Fnstruclinn Count

Cycles Per Instruction

[ Instruction Type
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(nteger Arithmetic 300
————— e ] '
Data transter | —1

—

W

7 Floating point l
Control transfer | e
“Determine the effective CPL MIPS rate, and execution time for this program o
y@tbrm Booth’s multiplication on the given data of 6*(-3).
/ Compute Memory tratfic. total memory for encoding and storing code that implements the expression
evaluation for the following code. Assume that the opcode occupy one byte, addresses occupy two
bytes, and data values also occupy two bytes and 1 byte world length for 3-. 2-, |-, 0- address ,T i
machines.
e GO0l
{3 addr 2-addr | -addr 0-addr __,? .O =
| MUL ABC MUL B.C LOADD pPUSH B
| piv DDE  DIVDE DIV E pUSHC |
| SUB AAD suB B.D STORD MUL 1
| STOR AB LLOADB PUSH D 9 .:,5:‘
i MUL C PUSH E
L SUB D DIV
ll STOR A SUB
| . POP A

e ——

%raw the tlowchart for restoring division and perform the same for 12 by 3.
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